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Q1) Select the correct alternative for each of the following:
a) The solution of p(p — 1) = 0is

i) y—-c)ly+x+¢c)=0 i) y—-c)ly+x—-¢c)=0
iii) y—-c)ly—x—-¢)=0 iv) y+)ly+x+c)=0
b) The complete solution of differential equation (D? — 9D + 18)y = 0 is
i) y = ce3% + c,e® ii) y =ce 3 + c,e®
i)  y=ce3+ce ™ iv)  None of these
c) The equation (2x + 3y + 1)dx + (3x + 2y + 1)dy = 0 is differential equation.
i) Non-homogeneous i) Homogeneous
i) Linear Iv) Exact
d) The solution of the differential equation p = (px — y)is
i) y=cx+c i) y=CcXx—¢C
iii) y =cy +eP Iv) y=cy+c
1 ox _
€) —e X =
: 1 2x ” 1 2x
i) 2 € i) S €
i)  e?* iv)  4e?
f) If y = px+ ePthen its solution is..........
i) y=cx+eP i) y=cx +e€
iii) y =cx + p° iv) y =cx +c®
g) The general solution of the differential equation 32732’ + B Z—i’ +C=0is if its
auxiliary equation has two roots a + i3 and a — i
i) y = [cicos Bx + ¢, sin fx]e™ ii) y = [c,cos Bx + ¢, sin fx]eP*
iii) y = [cycos ax + ¢, sin ax]ef* iv) y = [cicos ax + ¢, sin ax]e®™
h)y D?sin2x =
i) —4Sin 2x i) —4Sin 4x
i) —4cos 4x Iv) —4cos 2x

Q2) Solve the following

a) Solve Z—z + xy = x3y3using bernoulli’s equation.

b) Solve: (D? — 2D + 1)y = x e*sinx

c) State and prove necessary and sufficient condition for Exactness.
ay a’y dy _

d) SOlveﬁ— 6@4‘ 11;- 6y = 0.

e) Solvep?—7p+12=0.

f) Solve (sin x cos y + e**)dx + (cosx siny + tan y)dy = 0.

g) Solve———e2*,

(D-2)(D+2)
h) Find the Particular Integral of (D3 — 3D + 2)y = «x.
i) Find the Particular Integral of (D? — 1)y = x






